College Algebra
Exponential & Logarithmic Functions

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Use transformations to graph the function. Determine the domain, range, and horizontal asymptote of the function.
1) f(x)=-2X+3+4 1)

e

A) domain of f: (- =, =), range of f: (-4, =); B) domain of f: (- =, =); range of f: (- =, 4);
horizontal asymptote:y = 4 horizontal asymptote:y = 4

C) domain of f: (- =, =); range of f: (- =, - 4); D) domain of f: (- =, =); range of f: (- =, - 4);
horizontal asymptote: y = - horizontal asymptote:y =-4
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2) f(x)=5(x- 3)
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A) domain of f: (- =, =); range of f:(0, =)
horizontal asymptote:y =0
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C) domain of f: (- =, =); range of f:(- =, 0)
horizontal asymptote: y =0
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B) domain of f: (- =, =); range of f:(0, =)
horizontal asymptote:y =0

o+
i /

:::::::-"f/:{::

= S L 5 x
61

D) domain of f: (- =, =); range of f:(- =, 0)
horizontal asymptote:y =0
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3) f(x)=4-X+5

A) domain of f: (- =, =); range of f:(4, =)
horizontal asymptote:y = 4

C) domain of f: (- =, =); range of f:(5, =)
horizontal asymptote:y =5
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B) domain of f: (- =,
horizontal asymp

=), range of f:(4, =)
tote:y = 4

D) domain of f: (- =,
horizontal asymp

Y

=); range of f:(5, =)
totecy =5
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Graph the function.
4) f(x) = 3|
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Solve the equation.
6} 21 + 2X — 32
A) {4}
7) 185 =1
A) {1}
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- 1
3 X=1
8) 9

A) 2}

7-3x=1
9) 2 .

A){-3}
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11) 2x = 16
A) {5}

12) 43x- 7 ) =16
A) 4}

13) [%]* =216

A) 3}
14)2x2- 3=p4
A){e}

15) (eX)* - e45 = e14x
A){-9,-5)

Change the exponential expression to an equivalent expression involving alogarithm.

16) 42 = x
A) Iogx4=2

17)eX=9
A)lnx=9

Change the logarithmic expression to an equivalent expression involving an exponent.

18) log , x=2
A)42=x

B) {1}

B) {-4}

B) {4}

B) {-3}

B) 3}

B) {3}

B) {9}

B) Iog42=x

B)In9=x

B)x2=4

C) {8}

C) (3}

C) /35, - +/35)

C) {9. 5}

C) 1ogzx=4

C)logxye=9

C)4x=2

8)
D) {-2}

9)
D) {3}

10)
D) {4}

11)
D) {3}

12)

13)

14)
D) {3,-3}

15)
D) {5}

16)
D) Iog4 x=2

17)
D)loggx=e

18)
D)24=x



19) log , 16 = x
A) 16X =2 B)x2=16 C) 162=x

Graph the function and itsinverse on the same Cartesian plane.
20) f(x) =logq x
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D) 2x =16
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21) f(x) = log1/4 x
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Graph the function.
22)f(x)=2- Inx
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